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EnumWindows(WNDENUMPROC IpEnumFunc, //callback
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EnumWindows function does not enumerate child windows,with
the exception of a few top-level windows owned by the system that
havethe WS CHILDstyle O OO OO OO OO

1 EnumWindowsProc 1 [J [0 [0 BOOL CALLBACK
EnumWindowsProc_1(HWND hwnd,LPARAM Iparam) . O [ [J
Jo000000o0dododododO BOOL CALLBACK
EnumWindowsProc_1(HWND hwnd,LPARAM Iparam) { char
IpWinTitle[256]. ::GetWindowText(hwnd,lpWinTitle,256-1).
CString m_strTitle. m_strTitle.Format("%s",[pWinTitle).
if(m_strTitle.Find("Internet Explorer")!=-1) { AfxMessageBox ("Ll
OOOIEOOO". }JreeunTRUE.JO OO OOOOOOOO
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:EnumWindows(EnumWindowsProc 1,0). 0 0O OO OO IEO O
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OO00000000 Uses Windows const iIAtom=" SingleApp
' . begin if GlobalFindAtom(iAtom)=0 then begin
GlobalAddAtom(iAtom). Application.Initialize.
Application.CreateForm(TForm1,Form1). Application.Run.
GlobalDeleteAtom(GlobalFindAtom(iAtom)). end else
MessageBox(0," You can not run a second copy of this App’
mb OK).end DO0OO0OO0OO0OOOOOOOOOONO
JO00000000000000000 varidinteger. begin
1:=0. while GlobalFindAtom(iAtom)0 do begin
GlobalDeleteAtom(GlobalFindAtom(iAtom)). i:=i] 1. end.
ShowMessage(IntToStr(l)). end. var arrBaiduCproConfig=new
Array(). arrBaiduCproConfig[uid] =65193.arrBaiduCproConfig[n]
=exam8cpr.arrBaiduCproConfig[tm]
=30.arrBaiduCproConfig[cm] =35.arrBaiduCproConfigfum]
=34.arrBaiduCproConfig[w] =575.arrBaiduCproConfig[h]
=60.arrBaiduCproConfig[wn] =2.arrBaiduCproConfig[hn]
=1.arrBaiduCproConfig[ta] =right.arrBaiduCproConfig|[tl]
=bottom.arrBaiduCproConfig[bu] =0.arrBaiduCproConfig[bd]
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=#666666.arrBaiduCproConfig[bdl]
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